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Ne 2

1.7m 1.8m

2.1m

4.2

Ne 5

1.1m
1.5m

3.
3.1
Ig.loss  Si0Q, 1,0, Fe,0, TiO,
Nel 3.58 76.80 11.85 2.46 0.66
No2 5.53 70.25  15.57 3.19 0.87
Ne3 5.51 69.77 15.42 3.90 0.71
No4 4.61 73.75  13.66 2.49 0.67
No5 7.23 65.18 18.70 3.71 1.01
MnO Ca0 MgO K,0 Na,0 P,0;
Nel - 0.30 - 2.20 0.80 0.02
No2 - 0.25 - 1.76 0.63 0.02
Ne3 0.05 0.31 - 2.06 0.75 0.02
No4 - 0.23 - 2.19 0.70 0.02
No5 - 0.35 - 1.57 0.58 0.03
Nel 54.12 21.13 19.38 2.74
No2 44 .97 16.84 30.94 3.19
Ne3 43.43 19.93 28.96 4.34
No4 49.35 19.87 24.73 2.77
No5 36.89 15.70 39.19 4.13
(D)
Nel 0.66 0.05 - 0.60
No2 0.87 0.05 - 0.85
Ne3 0.65 0.05 0.11 1.03
No4 0.67 0.05 - 0.88
No5 1.01 0.07 - 1.34
Total
Nel 98.67
No2 98.07
Ne3 98.50
Neo4 98.32
No5 8.36
3.2
1)
20mesh
60mesh
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2) 20mesh
100 1210 1290 20 Nel 8.1 9.5
No2 10.6 12.1
0.3m Ne3 10.1 9.5
No4 7.7 11.9
3) No5 - -
60mesh
Ne
Nol 9.8 8.9
No2 12.0 9.1
Ne3 12.0 7.8
Ne 1290 No4 _ -
Ne N5 15.7 8.8
4.
10
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6k m. ﬁ N 1500
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<~  F
2F <«— 7]
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1210 1230 1250 1270 1290
* .- )
(20mesh)
o— o0
W - (60mesh) 1) 1954
Oo———0
2) 1957
Ne
3) 1987
63
20mesh 60mesh 51 80
Neol 5.6 7.0
No2 8.0 8.8
Neo3 6.4 7.3
No4 6.1 7.4
No5 - 11.0




